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60x1C 292 276 60x1C 289 274
80x1C 343 327 80xIC 340 323
100x1C 396 378 100x1C 391 373
125x1C 451 433 125x1C 445 426
150x1C 507 488 150x1C 499 479
200x1C 587 568  200x1C 578 557
250x1C 673 654  250x1C 663 643
325x1C 774 757  325x1C 766 747
400x1C 866 851  400x1C 865 849
500x1C 969 960  500x1C 967 956

Xet  RIB/FRERG NERE - ERORKER  IRGTELHIVKSEEBRZEER -




WLC-A-5201C_B-1
@

WALSIN LIHWA

|=Ian1Xf2

| EBEEGLZEER
AEERG FER  BREMR(—E—IKR) - 31

mEMBGE - BFR2

| —ENZIEERIEEGRE - BR3

oo
+H]H

N3 S
]

=8aaT LEmE90°C »
EE 48 S (R ) 5oC IEFREE - CNS 2655
ZEERETEMIEICS 0168-1#3 &8

i

i e

B5 g
MTH it

M

mEREHRE

=2 EE

HREZRE XLPE 1.04 1.00 0.96 0.92 0.88 0.83 0.78

xR3:E—EAZRERREGRI 1,

R EE T (e
1.00 0.70 0.6

0.56 0.49 0.43 0.39 0.34

St E;
25KV XLPE-PVCEEE250mm2 x 1CA Bl MR EREHR -
=t i R B EIN=663 (SR LSRR TELEER

IRIEmEX30°C - oj&FR2 - f1E=0.96
BB RN BB SR B EIGR - B%3 - f,E=07

AL RERA) =1 X X T,
Z 2 E7(A) 1=663x0.96x0.7= 446A




WLC-A-5201C_B-1
@

EHEE
WALSIN LIHWA

1=1_ X f, X f,

| EEBZEER

|, RERGETER - ZPRBERMAR(RFR) &1
f;: BEREBRERE - &FA4

fy: EPRERSIFRMBIRERE - BERS

BREESEHF LIEREIC

EHESRE © 220 RS EMER40°C CNS 2655

IR
ZEEM

T EMKIEICS 0168-177 =0

PR REY S

AR REN | XLPE 1.18 1.14 1.10 1.05 1.00 0.95 0.89
P RIERSEMBIREGE 1,
5Z
|ﬂﬁ%ﬂllllllﬂlllﬂl!llll“lﬁlﬂl!ll!lﬂlﬂ!l
il O @ 000 3‘* ﬁ*ﬁ*ﬁ*ﬁ fﬁf 3%‘3%
S=d 1.00 0.85 0.80 0.70 0.70 0.60 - - -
S=2d 1.00 0.95 0.95 0.90 0.90 0.90 0.85 0.80 0.80
S=3d 1.00 1.00 1.00 0.95 0.95 0.95 0.90 0.85 0.85
st Eaf;
PASkV XLPE-PVCEELSOmm2 &4 fag R ZE P KBRS FR e - IWEREBAETTER -

RERGE NEMREIN=488( AI&xR]1 RERG FEP KR
IRIEME 45 °C - oJ&*&4
BEFIA T LB S =

éé;)lL)
- 318=0.95
BRI ESE - FEBEEIEE S=d - &3R5 » f415=0.8

fi(A) I=In X f3 X 4
ZEER(A) 1=488x0.95x0.8= 37/1A




T »@




